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Q=1503630000
P =510510n + 50363

2P + 1 =2(510510n + 50363) + 1 = 1021020n + 100726 + 1 = 1021020n + 100727

0000010210200 20 2003,5,7,11,13,17000000 10000000

100727 = 11 x 9157 x 1

oooo
2P 4+ 1 =11(92820n + 9157)
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good

Q=503770000
P = 510510n + 50377

2P + 1 = 2(510510n + 50377) + 1 = 10210200 + 100754 + 1 = 1021020n + 100755
0000010210200 20 2003,5,7,11,13,17000000 10000000

100755 =3 x 3 x 5 x 2239 x 1

oooo
2P + 1 = 15(68068n + 6717)

obooboooolboooboooooobobooobooobooboobUoboooobOooboo
good

Q=50381 0000
P = 5105101 + 50381
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2P + 1 =2(510510n + 50381) + 1 = 1021020n + 100762 + 1 = 1021020n + 100763

0000010210200 20 2003,5,7,11,13,17000000 10000000

100763 = 13 x 23 x 337 x 1

oooo
2P + 1 = 13(78540n + 7751)
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goog

Q=503830000
P = 510510n + 50383

2P 41 = 2(510510n + 50383) + 1 = 10210201 + 100766 + 1 = 1021020n + 100767
0000010210200 20 2003,5,7,11,13,17000000 10000000

100767 = 3 x 33589 x 1

good
2P + 1 = 3(340340n + 33589)
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goo

Q=150387 0000
P = 510510n + 50387

2P + 1 = 2(510510n + 50387) + 1 = 10210200 + 100774 + 1 = 1021020n + 100775
0000010210200 20 2003,5,7,11,13,17000000 10000000

100775 =5 x5 x 29 x 139 x 1

oooo
2P + 1 = 5(204204n + 20155)
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goo

Q=503890000
P = 5105101 + 50389

2P + 1 =2(510510n + 50389) 4+ 1 = 1021020n + 100778 + 1 = 1021020n + 100779

0000010210200 20 2003,5,7,11,13,17000000 10000000

100779 =3 x 7 x 4799 x 1
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2P + 1 = 21(48620n + 4799)
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good

Q=1503990000
P = 510510n + 50399

2P 41 = 2(510510n + 50399) + 1 = 10210201 + 100798 + 1 = 1021020n + 100799
0000010210200 20 2003,5,7,11,13,17000000 1000000

100799 = 100799 x 1
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2P +1 = 510510m + 100799
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Q=504110000
P = 5105100 + 50411

2P + 1 = 2(510510n + 50411) + 1 = 1021020n + 100822 + 1 = 1021020n + 100823
0000010210200 20 2003,5,7,11,13,17000000 1000000

100823 = 100823 x 1
oooo 10210200 000000000000
2P 4+ 1 =510510m + 100823

goboobooobooboboobboobbooboooboon

Q=504170000
P =510510n + 50417

2P + 1 =2(510510n + 50417) + 1 = 1021020n + 100834 + 1 = 1021020n + 100835

0000010210200 20 2003,5,7,11,13,17000000 10000000

100835 =5 x 7 x 43 x 67 x 1

oooo
2P + 1 = 35(29172n + 2881)
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good
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Q=504190000
P = 5105101 + 50419

2P + 1 = 2(510510n + 50419) + 1 = 10210200 + 100838 + 1 = 10210201 + 100839
0000010210200 20 2003,5,7,11,13,17000000 10000000

100839 = 3 x 33613 x 1

oooo
2P + 1 = 3(340340n + 33613)
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Q=504230000
P = 5105101 + 50423

2P 41 = 2(510510n + 50423) + 1 = 10210201 + 100846 + 1 = 1021020n + 100847
0000010210200 20 2003,5,7,11,13,17000000 1000000

100847 = 100847 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 100847

goboobooobooboboobboobboobuoooboon

Q=504200000
P = 5105101 4 50429

2P + 1 =2(510510n + 50429) 4+ 1 = 1021020n + 100858 + 1 = 10210201 + 100859

0000010210200 20 2003,5,7,11,13,17000000 10000000

100859 =11 x 53 x 173 x 1
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2P + 1 = 11(92820n + 9169)

ooboooooboloooobooooobobooobooboOobooboboooobOoobOoo
good

Q=504310000
P = 510510n + 50431

2P + 1 =2(510510n 4 50431) + 1 = 1021020n + 100862 + 1 = 1021020n + 100863
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100863 = 3 x 3 x 7 x 1601 x 1

oooo
2P + 1 = 21(48620n + 4803)
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Q=50437 0000
P = 510510n + 50437

2P + 1 = 2(510510n + 50437) + 1 = 10210200 + 100874 + 1 = 1021020n + 100875
0000010210200 20 2003,5,7,11,13,17000000 10000000

100875 =3 x5 x5 xH x 269 x 1
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2P + 1 = 15(68068n + 6725)
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Q=>504410000
P = 510510n + 50441

2P + 1 = 2(510510n + 50441) + 1 = 1021020n + 100882 + 1 = 1021020n + 100883
0000010210200 20 2003,5,7,11,13,17000000 1000000

100883 =79 x 1277 x 1
oooo 10210200 000000000000
2P +1 = 510510m + 100883

ooboobooobooboboobboobboobooobooo

Q=504430000
P = 5105101 + 50443

2P + 1 =2(510510n + 50443) + 1 = 1021020n + 100886 + 1 = 1021020n + 100887

0000010210200 20 2003,5,7,11,13,17000000 10000000

100887 = 3 x 33629 x 1

oooo
2P + 1 = 3(340340n + 33629)
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Q=>504470000
P = 5105100 + 50447

2P + 1 =2(510510n 4 50447) + 1 = 1021020n + 100894 + 1 = 1021020n + 100895

0000010210200 20 2003,5,7,11,13,17000000 10000000

100895 =5 x 17 x 1187 x 1

oooo
2P + 1 =85(12012n + 1187)
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good

Q=150459 0000
P = 510510n + 50459

2P + 1 =2(510510n + 50459) + 1 = 1021020n + 100918 + 1 = 1021020n + 100919

0000010210200 20 2003,5,7,11,13,17000000 10000000

100919 =7 x 13 x 1109 x 1

oooo
2P + 1 =91(11220n + 1109)
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good

Q=50461 0000
P = 5105101 + 50461

2P + 1 = 2(510510n + 50461) + 1 = 10210200 + 100922 + 1 = 10210201 + 100923
0000010210200 20 2003,5,7,11,13,17000000 10000000

100923 = 3 x 33641 x 1

ogooo
2P + 1 = 3(340340n + 33641)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=504670000
P = 5105100 + 50467
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2P + 1 =2(510510n + 50467) + 1 = 1021020n + 100934 + 1 = 1021020n + 100935

0000010210200 20 2003,5,7,11,13,17000000 10000000

100935 =3 x 3 x 5 x 2243 x 1

oooo
2P + 1 = 15(68068n + 6729)

obooooooloooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=504710000
P = 5105100 + 50471

2P 41 = 2(510510n + 50471) + 1 = 10210201 + 100942 + 1 = 1021020n + 100943
0000010210200 20 2003,5,7,11,13,17000000 1000000

100943 = 100943 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 100943

gboboobooobooboboobboobboobooobooo

Q=504830000
P = 510510n + 50483

2P + 1 = 2(510510n + 50483) + 1 = 1021020n + 100966 + 1 = 10210201 + 100967
0000010210200 20 2003,5,7,11,13,17000000 1000000
100967 = 31 x 3257 x 1
0000 10210200000000000000
2P + 1 = 510510m + 100967
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Q=50480 0000
P = 510510n + 50489

2P + 1 =2(510510n + 50489) + 1 = 1021020n + 100978 + 1 = 1021020n + 100979

0000010210200 20 2003,5,7,11,13,17000000 1000000

100979 = 241 x 419 x 1
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2P 4+ 1 =510510m + 100979
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Q=504970000
P = 510510n + 50497

2P + 1 = 2(510510n + 50497) + 1 = 10210200 + 100994 + 1 = 1021020n + 100995
0000010210200 20 2003,5,7,11,13,17000000 10000000

100995 =3 x 5 x 6733 x 1

0ooo
2P + 1 = 15(68068n + 6733)

goooooboOoboobooOooobOoboobooOooOUoOo0oDOobDOoOoDOobDOoboOooboOooo
googo

Q=505030000
P = 5105101 + 50503

2P + 1 = 2(510510n + 50503) + 1 = 1021020n + 101006 + 1 = 1021020n + 101007
0000010210200 20 2003,5,7,11,13,17000000 10000000

101007 =3 x3x3x3 x29x43 x1

good
2P + 1 = 3(340340n + 33669)

g0obOobooo30bobobooooobobooDooboobobDobDobooobUoboobDoo
goo

Q=505000000
P = 5105101 + 50509

2P + 1 =2(510510n + 50509) 4+ 1 = 1021020n + 101018 + 1 = 1021020n + 101019

0000010210200 20 2003,5,7,11,13,17000000 10000000

101019 =3 x 151 x 223 x 1

oooo
2P + 1 = 3(340340n + 33673)

gooooooOo3soooooooobooooUoboobDOoobOoUobbOODbDOoOobboUDoO
goo
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Q=505130000
P =510510n + 50513

2P + 1 = 2(510510n + 50513) + 1 = 10210200 + 101026 + 1 = 10210201 + 101027
0000010210200 20 2003,5,7,11,13,17000000 1000000

101027 = 101027 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m 4+ 101027

gbooboobogobooboboobboobooobuooooboon

Q=505210000
P = 5105100 + 50521

2P + 1 =2(510510n 4 50521) + 1 = 1021020n + 101042 + 1 = 1021020n + 101043

0000010210200 20 2003,5,7,11,13,17000000 10000000

101043 =3 x 3 x 103 x 109 x 1

oooO
2P + 1 = 3(340340n + 33681)

gooooooo3soooooooooboooooboobooDbOoobboObDoobboUOoDboO
goo

Q=505270000
P = 510510n + 50527

2P + 1 =2(510510n + 50527) + 1 = 1021020n + 101054 + 1 = 1021020n + 101055

0000010210200 20 2003,5,7,11,13,17000000 10000000

101055 =3 x 5 x 6737 x 1

oooo
2P + 1 = 15(68068n + 6737)

oooooooolboooobooooobobooobooboOobooboboooobOoobOoo
good

Q=>505370000
P = 510510n + 50537

2P + 1 =2(510510n 4 50537) + 1 = 1021020n + 101074 + 1 = 1021020n + 101075
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0000010210200 20 2003,5,7,11,13,17000000 10000000

101075 =5 x5 x 13 x 311 x 1

oooo
2P +1 = 65(15708n + 1555)
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good

Q=505390000
P = 510510n + 50539

2P + 1 = 2(510510n + 50539) + 1 = 10210200 + 101078 + 1 = 10210201 + 101079
0000010210200 20 2003,5,7,11,13,17000000 10000000

101079 =3 x 3 x 11 x 1021 x 1

oooo
2P + 1 = 33(30940n + 3063)

goooooboOo33boobooooobobooooooooooDobDOooDOobDOoboooboooo
good

Q=505430000
P = 5105100 + 50543

2P + 1 =2(510510n + 50543) + 1 = 1021020n + 101086 + 1 = 1021020n + 101087
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

101087 =7 x 7 x 2063 x 1

oooo
2P 4 1 = 7(145860n + 14441)
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goo

Q=505490000
P = 5105101 + 50549

2P + 1 =2(510510n 4 50549) + 1 = 1021020n + 101098 + 1 = 1021020n + 101099

0000010210200 20 2003,5,7,11,13,17000000 10000000

101099 =17 x 19 x 313 x 1

oooo
2P + 1 = 17(60060n + 5947)
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Q=505510000
P = 5105101 + 50551

2P + 1 =2(510510n 4 50551) + 1 = 1021020n + 101102 + 1 = 1021020n + 101103

0000010210200 20 2003,5,7,11,13,17000000 10000000

101103 =3 x 67 x 503 x 1

oooo
2P + 1 = 3(340340n + 33701)
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Q=1505630000
P = 510510n + 50563

2P + 1 =2(510510n + 50563) + 1 = 1021020n + 101126 + 1 = 1021020n + 101127

0000010210200 20 2003,5,7,11,13,17000000 10000000

101127 =3 x 13 x 2593 x 1

oooo
2P + 1 = 39(26180n + 2593)

goodoOooOo3oooooooboboobooUooUoo0oDobDOooDobDOobooboOooo
good

Q=505690000
P = 5105101 + 50569

2P + 1 = 2(510510n + 50569) + 1 = 1021020n + 101138 + 1 = 10210201 + 101139
0000010210200 20 2003,5,7,11,13,17000000 10000000

101139 =3 x 33713 x 1

oooo
2P + 1 = 3(340340n + 33713)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=505730000
P = 5105101 + 50573
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2P + 1 =2(510510n + 50573) + 1 = 1021020n + 101146 + 1 = 1021020n + 101147

0000010210200 20 2003,5,7,11,13,17000000 1000000

101147 = 41 x 2467 x 1

o000 10210200000000000000O0

2P 4+ 1 =510510m 4+ 101147
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Q=505790000
P = 5105101 + 50579

2P + 1 = 2(510510n + 50579) + 1 = 10210200 + 101158 + 1 = 1021020n + 101159
0000010210200 20 2003,5,7,11,13,17000000 1000000

101159 = 101159 x 1

OOo0o0D 10210200 000000000000

2P +1 =510510m + 101159
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Q=505810000
P = 510510n + 50581

2P 41 = 2(510510n + 50581) + 1 = 10210201 + 101162 + 1 = 1021020n + 101163
0000010210200 20 2003,5,7,11,13,17000000 10000000

101163 = 3 x 33721 x 1

oooo
2P + 1 = 3(340340n + 33721)
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goo

Q=50587 0000
P = 510510n + 50587

2P + 1 =2(510510n + 50587) + 1 = 1021020n + 101174 + 1 = 1021020n + 101175

0000010210200 20 2003,5,7,11,13,17000000 10000000

101175 =3 x5 x5 x19x 71 x1
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2P + 1 = 15(68068n + 6745)
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good

Q=505910000
P = 5105101 + 50591

2P 41 = 2(510510n + 50591) + 1 = 10210201 + 101182 + 1 = 1021020n + 101183
0000010210200 20 2003,5,7,11,13,17000000 1000000

101183 = 101183 x 1

o000 10210200 000000000000

2P +1 = 510510m + 101183

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=505930000
P = 5105101 + 50593

2P + 1 = 2(510510n + 50593) + 1 = 10210200 + 101186 + 1 = 1021020n + 101187
0000010210200 20 2003,5,7,11,13,17000000 10000000

101187 =3 x 3 x 11243 x 1

oooo
2P + 1 = 3(340340n + 33729)

g0obOobooo30boboboooooboobooDoobobooDobDobooobOobDOobDOoo
goo

Q=50597 0000
P = 5105100 + 50597

2P + 1 =2(510510n + 50597) + 1 = 1021020n + 101194 + 1 = 1021020n + 101195

0000010210200 20 2003,5,7,11,13,17000000 10000000

101195 =5 x 37 x 547 x 1

oooo
2P + 1 = 5(204204n + 20239)
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goo
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Q=505990000
P = 5105101 + 50599

2P + 1 = 2(510510n + 50599) + 1 = 10210201 + 101198 + 1 = 1021020n + 101199
0000010210200 20 2003,5,7,11,13,17000000 10000000

101199 =3 x 7x 61l x 79 x 1

oooo
2P 4+ 1 = 21(48620n + 4819)
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Q=>50621 0000
P = 510510n + 50621

2P 41 = 2(510510n + 50621) + 1 = 10210201 + 101242 + 1 = 1021020n + 101243
0000010210200 20 2003,5,7,11,13,17000000 1000000

101243 =137 x 739 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 101243

goboobooobooboboobboobboobuoooboon

Q=506230000
P = 510510n + 50623

2P + 1 =2(510510n + 50623) + 1 = 10210201 + 101246 + 1 = 1021020n + 101247

0000010210200 20 2003,5,7,11,13,17000000 10000000

101247 = 3 x 33749 x 1

oooOo
2P + 1 = 3(340340n + 33749)

obooboobooo3obobooooooboboooobobobDoboDobooobUoboooo
goo

Q=>50627 0000
P = 510510n + 50627

2P + 1 =2(510510n 4 50627) + 1 = 1021020n + 101254 + 1 = 1021020n + 101255
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0000010210200 20 2003,5,7,11,13,17000000 10000000

101255 =5 x 7 x 11 x 263 x 1

oooo
2P + 1 = 385(2652n + 263)
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Q=1506290000
P = 510510n + 50629

2P + 1 = 2(510510n + 50629) + 1 = 10210200 + 101258 + 1 = 10210201 + 101259
0000010210200 20 2003,5,7,11,13,17000000 10000000

101259 =3 x 3 x 11251 x 1

oooo
2P + 1 = 3(340340n + 33753)
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Q=506390000
P = 5105101 + 50639

2P + 1 = 2(510510n + 50639) + 1 = 1021020n + 101278 + 1 = 1021020n + 101279
0000010210200 20 2003,5,7,11,13,17000000 1000000

101279 = 101279 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 101279
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Q=50641 0000
P = 5105100 + 50641

2P + 1 =2(510510n + 50641) + 1 = 1021020n + 101282 + 1 = 1021020n + 101283

0000010210200 20 2003,5,7,11,13,17000000 10000000

101283 =3 x 7T x 7Tx 13 x b3 x 1

oooo
2P + 1 = 273(3740n + 371)
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Q=506470000
P = 510510n + 50647

2P + 1 =2(510510n 4 50647) + 1 = 1021020n + 101294 + 1 = 1021020n + 101295

0000010210200 20 2003,5,7,11,13,17000000 10000000

101295 =3 x 3 x 5 x 2251 x 1

oooo
2P + 1 = 15(68068n + 6753)
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good

Q=1506510000
P = 510510n + 50651

2P + 1 =2(510510n + 50651) + 1 = 1021020n + 101302 + 1 = 1021020n + 101303

0000010210200 20 2003,5,7,11,13,17000000 10000000

101303 =17 x 59 x 101 x 1
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2P + 1 = 17(60060n + 5959)
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good

Q=506530000
P = 510510n + 50653

2P + 1 = 2(510510n + 50653) + 1 = 10210200 + 101306 + 1 = 1021020n + 101307
0000010210200 20 2003,5,7,11,13,17000000 10000000

101307 = 3 x 33769 x 1

good
2P + 1 = 3(340340n + 33769)
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2P + 1 =2(510510n + 50657) + 1 = 1021020n + 101314 + 1 = 1021020n + 101315

0000010210200 20 2003,5,7,11,13,17000000 10000000

101315 =5 x 23 x 881 x 1

oooo
2P + 1 = 5(204204n + 20263)
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goo

Q=506630000
P = 5105101 + 50663

2P 41 = 2(510510n + 50663) + 1 = 10210201 + 101326 + 1 = 1021020n + 101327
0000010210200 20 2003,5,7,11,13,17000000 1000000

101327 =19 x 5333 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 101327
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Q=506690000
P = 5105101 + 50669

2P + 1 = 2(510510n + 50669) + 1 = 10210200 + 101338 + 1 = 1021020n + 101339
0000010210200 20 2003,5,7,11,13,17000000 10000000

101339 =7 x 31 x 467 x 1

oooo
2P + 1 = 7(145860n + 14477)
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Q=506710000
P = 5105100 + 50671

2P + 1 =2(510510n 4 50671) + 1 = 1021020n + 101342 + 1 = 1021020n + 101343

0000010210200 20 2003,5,7,11,13,17000000 10000000

101343 =3 x 11 x 37 x 83 x 1
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gboobobooosOobobUoboobobooboboboobobOobObDobDOobobOOobOobDOobDOoo
goo

Q=50989 0000
P = 5105101 + 50989

2P 41 = 2(510510n + 50989) + 1 = 10210201 + 101978 + 1 = 1021020n + 101979
0000010210200 20 2003,5,7,11,13,17000000 10000000

101979 =3 x3 x 3 x I x 1259 x 1

good
2P + 1 = 3(340340n + 33993)

g0oobOobooo30boboooooobobOooOoOobOobOobDobDobOoobOobOobDOoo
goo

Q=1509930000
P = 510510n + 50993

2P + 1 = 2(510510n + 50993) + 1 = 10210200 + 101986 + 1 = 10210201 + 101987
0000010210200 20 2003,5,7,11,13,17000000 1000000
101987 = 101987 x 1
0000 10210200000000000000
2P + 1 = 510510m + 101987

gbobooboooboobboobboobobooobuoonoboon

Q=510010000
P = 510510n + 51001

2P + 1 =2(510510n 4+ 51001) + 1 = 1021020n + 102002 + 1 = 1021020n + 102003

295



0000010210200 20 2003,5,7,11,13,17000000 10000000

102003 =3 x 11 x 11 x 281 x 1

oooo
2P + 1 = 33(30940n + 3091)

o00o0obO0oOoo33booooooooobobooobooobDo0oboobooooobOoobOoo
good

Q=>510110000
P = 510510n + 51011

2P +1 = 2(510510n + 51011) + 1 = 10210200 + 102022 + 1 = 1021020n + 102023
0000010210200 20 2003,5,7,11,13,17000000 1000000

102023 = 102023 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 102023

gboboobogobooboboobboobbooobuoonooboon

Q=510130000
P = 510510n + 51013

2P + 1 = 2(510510n + 51013) + 1 = 1021020 + 102026 + 1 = 10210200 + 102027
0000010210200 20 2003,5,7,11,13,17000000 10000000

102027 =3 x 71 x 479 x 1

oooo
2P + 1 = 3(340340n + 34009)

oooooooo3sooooooooobooooboOobooboobDOoobboODoOobDboOoDboO
goo

Q=510190000
P = 5105101 4 51019

2P + 1 =2(510510n + 51019) 4+ 1 = 1021020n + 102038 + 1 = 1021020n + 102039

0000010210200 20 2003,5,7,11,13,17000000 10000000

102039 =3 x 7 x 43 x 113 x 1

oooo
2P + 1 = 21(48620n + 4859)
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go0OdoOoboOo210000000b00b000Oo0O0oOo0oDOOobDO00oDO0obDOobOoOOboOoooO
goog

Q=510310000
P =510510n + 51031

2P + 1 = 2(510510n + 51031) + 1 = 10210200 + 102062 + 1 = 1021020n + 102063
0000010210200 20 2003,5,7,11,13,17000000 10000000

102063 = 3 x 13 x 2617 x 1

oooo
2P +1 = 39(26180n + 2617)

000000003 ooooooboooboooo0bo0oo0bDO0o0ob0o0obUobDooDbOooODbOoo
good

Q=>510410000
P = 5105100 + 51041

2P 41 = 2(510510n + 51041) + 1 = 10210201 + 102082 + 1 = 1021020n + 102083
0000010210200 20 2003,5,7,11,13,17000000 1000000

102083 =31 x 37 x 89 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 102083

gbbogbogobogbbgobbooboooobuoonobagn

Q=>510430000
P = 5105101 + 51043

2P + 1 =2(510510n + 51043) + 1 = 10210201 + 102086 + 1 = 1021020n + 102087

0000010210200 20 2003,5,7,11,13,17000000 10000000

102087 =3 x 3 x 3 x 19 x199 x 1

oooo
2P + 1 = 3(340340n + 34029)

o00b0o0O0o03000b0000000b00bO0oOD0oO0b00obO0oDOOobODOoOOoOobOobDOoDbDOn
goo

Q=510470000
P =510510n + 51047

2P + 1 =2(510510n 4 51047) + 1 = 1021020n + 102094 + 1 = 1021020n + 102095
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0000010210200 20 2003,5,7,11,13,17000000 10000000

102095 =5 x 7 x 2917 x 1

oooo
2P +1 = 35(29172n + 2917)

o0ooboooo3boogbobooboooboboooboooboob0ooboboDoooDboOoobOoo
googd

Q=510490000
P = 5105101 + 51049

2P + 1 =2(510510n 4 51049) + 1 = 1021020n + 102098 + 1 = 1021020n + 102099

0000010210200 20 2003,5,7,11,13,17000000 10000000

102099 = 3 x 34033 x 1

oooo
2P + 1 = 3(340340n + 34033)

gooooooo3soooooooobooooUoboUobDOooDbOoUobbOUDoOobboUDboO
goo
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